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Note

g :

POLITICAL SCIENCE
PAPER-II

Uzl [Qsiiq
Yyu:-II

: This paper contains FIFTY (50) multiple-choice and matching questions, each

question carrying TWO (2) marks. Attempt All the questions.

L UYL WA (w0) orglasedld uadl, W-vig 2 ASSL siriactiAl Haedl

8. MM Uadldl Fan daualdl 8. Uds UadA 6 () e 8,

Kautilya’s Arthashastra is aptly
described as a treatise on :

(A) Economics

(B) Political Philosophy

(C) Statecraft

(D) Public Administration

Which of the following is a key
feature of the social order envisaged
in Plato’s Republic ?

(A) Abolition of private property
{B) Hierarchy

(C) Monarchy

(D) Republicanism

Machiavelli’ notion of “Virtu' is
rooted in an ethic which is
predominantly :

(A) Pagan

(B) Christian

(C) Oriental

(D} Medieval
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sieunl vfsad Al qu 5l
WA ?

(A) wdue

(B) wxslu Rdn

(C) Urd Adiagi-l se
D) 282 adlaz

Wit ‘Rufas’ yaasuidl asulys
Rl Yoo Rl s 7

(A) vl Auludl noel

(B) MRS uayl

(C) Runwel

(D) UAATSAE

ABudelAl ‘uede’ -l g 56
il wa Asudal 8 °

A yldyrsal
(B) BRauA
(0) ydeally dxgfa wd
(D) eyl
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Bentham rejected the idea of
natural rights from the standpoint
of :

(A) Legal positivism

(B) Natural law tradition

{C) Liberalism

(D) Moral absolution

The doctrine which represents
Mao’s distinctive contribution to
revolutionary strategy is :

(A) War of position

(B) Permanent revolution

(C) Man’s line

(D) Vanguard party

Which term accurately captures
Robert Nozick’s overall theoretical
stance ?

(A) Anarcho-syndicalism

(B) Libertarianism

(C) Welfarism

(D) Utilitarianism
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Ao secll w5l i vale su sl

Al aedlsiyl ?

(A) sil Nuaale

(B) &edl sweidl nals
(C) Belinddle

M) ARs 2eulBddicie

silast] eyea-unl Wl Hilas
Ueld, 54 & 7

A) Wl Ye
(B) &Ml sila
(C) A A

(D) w8l (vanguard) &egq UYALR
Y&

A AAlsel Agilas vaud yued

Ad 3% avudl usiy ?
(A) AsuaEl Ri-slidlny,
(B) Wid>4dle

(C) sdale

M) Guuilidiae




10.

Dr. B.R. Ambedkar’s version of
Buddhism is known as :

(A) Hinayana

(B} Mahayana

(C) Navayana

(D) Vajrayana

The medieval doctrine of two swords
sought to define the relationship
between :

(A) Kinship and priesthood

(B) Lord and vassal

(C} Emperor and princes

(D) Pope and Bishops

Which book triggered the
resurgence of political theory ?
(A) A Theory of Justice

(B) Theories of Justice

(C) Frontiers of Justice

(D) The Idea of Justice

The utilitarian understanding of
equality is focused on :

(A) Rights

(B) Resources

(C) Capabilities

(D) Preferences
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11.

12,

13.

The theory of separation of powers
18 comprehensively employed only
in :

(A) US

(B) India

(C) Australia

D) UK

Which of the following is an 12

example of a country with both a
Constitution and Constitutiona-
lism ?

(A) Hitler's Germany

(B) Stalin’s Russia

(C) India under emergency

D) US

‘Rule of Law’ does not mean which 13.

of the following ?

(A) All are subject to law and no
one is above law

(B) Judges are above the law

(C) All are subject to same law

(D) All are tried in the same

courts
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(A) y.ul.

(B) ®lRd
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D) y.3.
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14. Which of the following statements

15.

about Switzerland is wrong ?
(A)
(B)

It has a plural federal executive

It is a country which has

elements of direct democracy

(C) It is a federal union formed by

decentralization

(D) It combines elements of
Parliamentary and Presidential
forms of Government

Match Group I and Group II by

using codes given below :

Group I Group 1I
(a) Leon Trotsky (1) Revolutio-
nary Party
(b) Karl Marx (2) Hegemony
(¢) Lenin (3) Permanent

Revolution

(d) Antonio Gramsci (4) Spontaneous

Revolutionary
Consciousness
Codes :

{a) (d) ) (d)
A @) 1 (4) (3)
B @ (4) (1) (2)
C© @ (2) (3) (1)
M (@ (3) (2) (4)
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() [l giedl
b) s1ed HISN
() aln-

Razxid-s {3 14 U5 s [Qun
AR Al ?

(A) dl sienl sgyel v
AH] &

(B) d W& Aol 29 O FH UUY
disadll qael 8

(©) d vs Aal yHal d4d & %
Redlsaeel ¥oul 8

D) d qULly A uyuael o4
A5 dedll 419 8

o ¢ 212 o 2 A Aadl. A euldar

SiS+l GuuloL 53U

%™ 2
(1) sifasn wa

g

(2) adxq

(3) sl sila
@ RA-2iREl Al @) ey silasiil
Y-l
sis
(@) b) (c) (d)
(A) (2 (1) (4) (3)
B @ @ @O @
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16. Match Group I and Group II by 16, o 9 %17 ou 3 A RaAlA 1A safden

et i Sisell Guuial 530 clel Byl
Group 1 Group 11
(@) US President (1) Power to make RN T2
appropriations @y 21 A (1) vl ‘{"{3
(b) US Senate (2) Power to use sa1dl A
troops (63 A A2 (2) dasil Guulol
(¢) House of (3) Power to sqi-l Al
Representatives declare war (@) WalAR Aen (3)4s N2
sacidl il
(d) Congress (4) Power to @) 53 @ AR o3
GERERYS sl uxl
treaties F

Codes .

(@) (b) (c) (d)
(A)  (3) (1) (4) (2)
B) @ (2) 3) (1)

(@) ) (e) (d)
(A) (3) (1) (4) (2)
(B) (4) (2) (3) (1)

) @ ) (1) 3) ) @. @ (1) (3)
® @ 3) (2) (4) M @ 3) (2) (4)
17. Which of the following is not an  17. $3[¥uld ddelqdl s34 @l -]

advantage of compulsory voting ? adl 7 _ |

(A) It shakes laziness of people (A) d disld say g 53 8

(B) It prevents Government elected (B) a dgudl udiel Jadedl w51
by minority of voters AL 2254 ©

(C) It is democratic (€©) d disdibis 8

(D) It works against conscience of D d HdelAl  sid211a0A)
voters [Aggul s 53 &
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18.

19.

Which of the following

characteristics i1s not shared by

modernizing societies ?

(A) Mass society

(B) Expanded functions of states
and demands

(C) State only provides for defence
and foreign policy

(D) Duties of citizens include
loyalty, tax payment and public
service

Literature on political development

stresses that -

(A) Political development must
precede economic development

(B) Economic development must
precede political development

(C) Political and economic
development must proceed
simultaneously

(D} Economic development

inequitably leads to political

development

Political Science-I1

18.

19,

sy lrisael sal wweni ld

AN 55 AE@sdar el ¢idl ?
(A) Ayl A
(B) XAl a8l sl 2wl

(C) %Y Ml A&l 2 ARyl

o s1d 43 69

D) sl s3AHl asiel?], sl
ysaell v 218 Aat-it wwdy

Uy 9

wUrY Qs g A8 A WR

MR HE B 7

(A) sy Qs »ulls Qs udal
llad] AHul

B) »ulfls Rsu, sy (s wdal
vl BH

(C) UFAY 2 w5 Qs wd ¥
gl ANSu

M) 2uls QAsuuidl wxsly Qs
s o 9
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20.

21.

Which of the following aspects of

political culture is most resistant to

change ?

(A) Attitudes regarding ethnicity,
religion and nationality

(B) Trust in those in power

(C) Legitimacy of basic political
structures

(D) Attitudes regarding family
structures

Match List I with List IT and select

the correct answer from the codes

given below :

List 1 List II
@ Quit India Movement (z) 1947
(i) Simon Commission & 1892
(i) Mountbatten Plan € 1927
(iv) Indian Councils Act (@ 1942

Codes :

(i) @G @) v

A) (@) () @ &

(B) (o) @ (@ &

© @ (b) ) (d)

M @ @ & (c)
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U AY A, 59 el YR adH-Ak el

R

2l [y 53 9 7

(A) il o, a3 A ngludl v
qes8L

(B) Atll YR 4L Y-l [As

(C) Hueid A uaeurdl dlgla

M) HZ6Bs e 2 aqn

oy q iR oY 2 A AL, w2
{2 »udar sisHl Gudlar 530 ¢

OO n R
@ *lid SISl Mislddl @ 1947
G WSHA SR (b) 1892
i) G2 S i © 1927
Gv) S-Olu- s1Gley s @ 1942
£S :

@ @ G )

(A) (d) (©) (a) ®)

B) (o (d) (@) ()]

Cc @ b) (c) (d)

o @ (@) ) (c)




22. Who wrote “Indian Constitution was

23.

24,

born more in fear and trepidation
than in hope and inspiration” ?
(A) Myron Weiner

(B) Paul Brass

(C) K.C. Wheare

(D) Morris Jones

The provisions related to
Emergency were added in the
Indian Constitution in the light of
the Constitution of :

(A) German Reich

(B) United Kingdom

(C) United States

(D) Japan

Which of the following is correctly
matched ?

(A) Abolition of Titles—Article-19
(B) Equality of Opportunity—
Article-18

(C) Employment of Children—
Article-17

D)

Immunity

Punishment—Article-20

Political Science-I1
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23.

24.

‘Gl el ey wA galul A
Adl 3 i v Aeudl m{g 9.’
Wl sAA sl B ?

(A) AR USAR
(B) W4 &Iy

© 3. . «dlur
D LA Ay

olqeil s2lsdl-Hl
(auwastl Baf) sl sw

Hld-l

elaaiel dai wudl & ?
(A) %A USs

(B) y.3.

(C) Y.,

(D) AU

A widainiedl sy dioy 8 7
(A) Sesoli-l Awdl-s4u 1
(B) dsi-ll wnAd—sAY 1¢

(©) cuasi-l qwel-sa4 19

(D) 25 il M2 & A+l AAN—s44
R0

[P.T.0.]
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25.

26.

27,

The Council of States (Rajya Sabha)

can :

(A) Reject a money bill

(B} Amend a money bill

(C) Suggest recommendations in
the money bill

(D) Delay money bill for 24 days

Which of the following is not related

to the Panchayati Raj System ?

(A) State Finance Commission

(B) State Election Commission

(C) Union Public Service

Commmission

(D) MNREGA

Indian federalism grants to the

states :

(A} Right to Secede

(B) Equal
Council of States

representation in

(C) Power for altering their

boundaries

(D) Scope to use powers given by
the Constitution

Which of the above options is

correct ?
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FAAMLAL Heoldl el

Qe sy wy & 7
(A) ~ueliefla-dl »edlsiz 30 w3
(B) -uaiolladi garl 531 ud

(€ -neella 23 etame 520
A3

D) aielldd 1y Bau sl ud

(1A 2tamidl sy dwadl ur
a2 A0 Asondd w2l ?

(A) 2AXY UL YAy
(B) wUwd Yool
(C) 3-ly g AaL ¥

D) A4 A 202 § @ A (urdou-
MNREGA)
MLdd Ancdda KA

(A) A=l e ysal AR S 2ud

-

£9

(B) RUAYUAUMIML 8L UoUA A
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(C) d¥-fl ueeid sedai-l AL
U 69
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28.

29.

Which is not true about Public
Interest Litigation ?
(A) It interferes in the domain of

Legislature and Executive

(B) Petitions can be filed by the
third party

(C) It enforces right of one
individual against another

(D) It is also known as social action
litigation

Pressure groups in India :

(A) Have no history in pre-
independence India

(B) Are seen as extra-constitutional
entities

(C) Do not have ascriptive
affiliations like caste and
religion

(D) Have secured full-fledged

legitimacy

Political Science-I1
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<
=]

M2 [Bd-l w2t i3l (public

interest litigation) $i=ir{l 2129 el

54 W3y Al 7

(A) o SLAML i s11eu AL s+
gud 53 8

it AL A3 Al wa 530
ny

d 218 AF o{low Al3d WA~
a5l Md 53 8

(B)

(8

(D) " MBS ual (social action)

ol etadl wad dlE g
ARLALHL Vild 69

eldMi eloogid ¢

(A) UBLE]l uddidl uHA-AL £1S

Slasiy

(B) auA viojae(ly Aeusl a3

ARAAHL 2Ud €9

(©) sl A« F Headt wd
A eig 2l

D) auA yel eiswellsla Holl &
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30. Match List I with List II and select,

the correct answer from the codes

given below :

List I List II
(t) Goswami Committee (a) Panchayati
Raj
() Sachar Committee (b)) OBC’s Listing
() Kalelkar Commission (¢)  Election
Reforms
(v) Laxmimal Singhavi (@  Minorities
Committee
Codes :
@) (i) (2id) (iv)
A) (o) {d) () (@)
(B) (@) (c) b) (d)
(C) (o) (d) (@) )
D) @ @B (d) (c)

31. What is the three fold classifi-

cation of authority as given by

A. Etzioni ?

(A) Programme, Organisational,
Normative

(B) Budgetary,

Utilitarian

Personnel,
(C) Coercive, Normative,

Utilitarian
(D) Coercive,

Organisational

Normative,

Political Science-I1
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30, %Y 1 A Y™ 2 ANl e {12
A sulden sisHi Guala s :

x% ¢ qY
® ol ywHR @ Al
@ AR wWEal B) ¥ ueLd

stlQii-(l
yiel
@) sladasz wAR ©  deell Yyl
o) aglie qladl @ agHdlil
Al
5is :
() (i1) 1£119) (tv)
(A) (0 (d) ) (a)
B) (@) © (b) (d)
(C) (o) (d) (@) ®)
D)y (@ (b) (d) ()
31. viiAux (éuthority) qd 2l syl
qafls:@ v, Acflzi-lal ol 4
s ?
(A) sdsy, Adasucis, suedyas
(B) HelwuAly, sHaaw,
Guylflangl
(©) saq Gualaadl, 2uedyas,

Guyiaflaiatél
(D}

oL Gualaiawel, suedyas,
YAEHUHS




32. Who said : “Public Administration

33.

34.

is the heart of the problem of

modern world” ?

(A) W.B. Douham

(B) Charles A. Beard

(C) L.D. White

(D) P.H. Appleby

The budget was formally introduced

in India in :

(A) 1859

(B) 1947

(C) 1950

(D) 1868

Assertion (A) Modern

behaviouralism developed in the

late 1930s and 1940s.

Reason (R) : Behavioural approach

is not concerned with the scientific

study of human behaviour in

diverse social environments.

(A) Both (A) (R)
individually true and (R) is the

and are
correct explanation of (A)

(B) Both (A) (R)
individually true but (R) is not

and are
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R} is true

Political Science-I1
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34.

‘SuglRs [Qsaui wdz qdlae gey
Y4 8.7 vl sUA sid & 7

(A) Soey. ofl. sidgu

B) Ul A, Bas

(C) »d. sl. wuse

D) dia A, el

el vUAR 5 Lol U A
syL ol o ?

(A)
(B)
(C)

D)

A M Ruid © 24 d-ll df R i
9

Qa1 (A) : 2ugfAs adqae 130
Al Bl Y0 Al slasML Gemel.

df R : adqael A Ry
sl {HBrs WRd Ul Hida
ad-l dsiMs vew wd Asndadl
efl. '

(A) (A) ¥ (R) tivl AlEdad d

AL B HA (R) (A) -l 2wl

Yuydl »ul 8.

(A) A (R) oin al3dad ld

AL B YR (R) (A) ~l 2wyl

g, L.

(A) A4 B YA (R) Wi &

(A) i@ 8 W (R) w2 €
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35.

36.

(a}

®)

()

fcdh

The first committee to recommend

for the establishment of an

Ombudsman type institution in

India was :

(A) Gorawala Committee

(B) Santhanam Committee

(C) Kripalani Committee

(1) Administrative
Commission

Match the Books in List 1 with the

Authors in List II and select the

correct answer :

Reforms

List I List II

(Books) (Authors)
Bureaucracy and Society (1) Ferrel
in Modern Egypt Heady
Administration in () Morroe
Developing Countries : Berger
The Theory of
Prismatic Society
The Science of Public {3} Riggs
Administration : Three
Problems
Public Administration : @) Robert
A Comparative Dahl
Perspective
Codes :

(a) (b) () (d)

(A) @ (3 D (2)
B &) (4) (2) (1)
c @ (3) (4) (1)
D D (2) (3} (4)

Political Science-IT
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(b)

{c)

(4]

ot diswd (Aixsadid) «l
AL stauHsl §9 wllaxl sl
gdl 7

(A)
(B)

szt
Aay AMfa

© [Buen-dl uMla

(D aslad yaren 4y

utel 1 M Yadsidl AL 8. wel R
Wi Auisidl «uHl 8. 6 Wl Andl
A sisHl Guaiol s WAL FUs
TR

ytel 4 yuel 2
(Y25 @uisl)
‘g 3Al V-s WYl 1 3 &8l
S+ HisHd S’
Vs U O @ HLRUS.
Saaltior Wiudloy : o33
g Ry s MaARRs
ARAMA’
‘4 WU s ubas @
sisMA2uq - &l
YI6ARY’
‘yBas AsMMga : @ Awd
2 5:Ua Slsd
yiusdla’
£S

(a) (b} (c) (d)

(A @ (3) (1) (2)
B @) (4) (2) (1)
(Cy (@) (3) (4) (1)
Dy (1) (2} 3) {4)




37. Consider the following statements 37 ojlad-l 3~<ld WEau-L dsely
in respect of the Central Secretariat A REAL At

in India : o~
(1) A *HAlkisaA waeell v $2%

(1) It assists the Council of ) .
Renadil 4ee 53 8,

Ministers in the fulfilment of its

(2) & Al Hedl ¥R 2wl B
responsibilities and duties

5 lla usdz 24 Al
(2) It is based on the belief that

, : wHHlsAA AN Al o
policy making must be

separated from policy execution A,
(3) Secretarial system in India is (3) ettadl Ala uu BBy A
similar both to the British and Rasly nenq wadl 2ud 8.

h d- h ] o » ] H
the Swedish systems Gua-umidl s34 [@euq 3 Qe Al

Which of the statements given 3 7

above is/are correct ?

(A) =2t (1)
(A) (1) only

(B) (2) and (3) (B) R) ¥ )

(D) (1) and (2) (D) (1) ¥4 ()
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38. Match List I with List II and select

(e

(b)

[ Fij |

)

the correct answer by using the

codes given below the lists :

List I List 1II
G.V.:E. Rao (1) Panchayati Raj
Committee Institutions {PRIs)

Balvantrai Mehta (2) Revitalisation of

Committee PRIs for democracy
and development
LM. Singhvi (3) Existing
Committee administrative
arrangements for
rural development
Ashok Mehta ) Community
Committee Development
Programme and
National Extension
Service
Codes :
(a} (d) (e) (d)
A @) (3) (1) (2)
B) W (3) (2) L
€ 3 4 (2) (1)
Dy @) (4) (1) (2)
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38.

(a)

®

(c)

(d)

utel 94 A 2 Aadi, 1A cafdar sis-l

Guyiol s3] waiel dvl :

el 1 YIgl R
GVK Rao (1 dadl el
Committee Qi%zltlrl.\l

odd Iy Hadl @ disuel A

AR fAsR 2 dauydl
AL SR EUTEN B
yrddld sl

Ad. AN, Riadl @ -l

AR  aelle Rk
adladl eqaal

LS Hadl @ wxellRs Qs

Al Y-l 2
dla dlzdre
A

s :

(a) () (c) (d)

A) @ (3) (1) @)

(B)

(&)

D)




39. Assertion (A) : McGregor's theory 39, (A) 4i Q%A & 217 (R) 4l df & :

is based the external trol of S - S )
Py s controt R (A) @ AsAaz-Al Rgid

human behaviour. . . N
HidaddAr ol LAl Hd

Reason (R) : Theory Y is 3

characterized by decentralisation of
df (R) : (ugid Y alavau-u

authority.
[QE-dlsam u 2lg 9,

(A) Both (A) and (R) are

| (4) (A) w1 (B) ¢ Aldad d
individually true and (R) is the

ALY 21 R) (A) WY 5128
correct explanation of (A)

£
(B) Both (A) and (R) are

individually true but (R) is not (B)_(Ay# (R)-6in, Albd2id Ad

' i i 9
the correct explanation WAl B L (R) (A) 4 Y s

of (A) e
(C) (A) is true but (R) is false (© (A) WY & A (R) vig &
(D) (A) is false but (R) is true D (A) Wig B @ R uy D
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40. Which of the following pairs is

41.

42.

correctly matched ?

(A} Plato—Politics

(B) Machiavelli—Republic

(C) Aristotle—The Prince

(D) Hobbes—Leviathan

During the cold war, in which of the

following events, did the two Super

Powers come to the brink of the

nuclear war ? -

(A) Korean War

(B) Cuban Missile Crisis

(C) Vietnam War

(D) Afghanistan’s invasion by
USSR

The foreign policy strategy adopted

by the United States in the early

years of cold war with regard to

USSR is known as :

{A) Detente

(B) Mutually Assured Destruction

(C) Containment

(D) Marshall Plan

Political Science-I1
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40.

41.

42,

Ans i Yacsdl AWSIAHL s34 WY
9 7

(A) W@l — “didldsy’

(B) Asluaddl — ‘Rubas’

© ¥WNRRled — ‘4 By’

(D) sio@ — ‘AlRAa-’

551 Yg 83U 6L AdlRA ATl 56
Harll e wgyedl Aws ueixfl
A edl ?

(A) siRud yg

B) syoil-l Faudd s2isdl

(C) Qe yg

(D) AilQud A= vustldi w2

SLEHEL

Y aA, gl YR AU, L
deoldl wllaygnt azstiddr anlxi
Al dl A g sy @ ?
(A) ‘Zdl’

WU gl [AlBad (Al

(MAD)

(B)

(C) [Ry=1a

e e

(D)




44.

Policies and actions that seek to

destroy groups because of their

religious or ethnic identities are

called :

(A) Genocide

(B) Civil War

(C) Politicide

(D) Insurgency

‘Human Security’ does not include

aspects of :

(A) Food and Economic Security

(B) Economic and Environment
Security

(C) Personal and Community
Security

(D) Liberty and Equality
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43.

44,

Ald ¥ cfan 5128 yalinl @A s

AldA g ssay 9 ?

(A) DAIDS

(B) nid[Qus

©) “wdldlss’

D) idRs einal

‘Ui AdHA i R4 w0dAN Udd

ol 7

(A) 2l w1 ulls wasdl

B) 2wls  wd vulazelly
el

(© alxdad 24 wyetls
el

(D) Wd2Adl At AL

[P.T.0.]



45.

46,

47,

Which of the following principles

provides incentives for mutual co-

operation ?

(A) Reciprocity

(B) Dominance

(C) Favouritism

(D) Identity

The term “banana republic” refers

to the relationship between poor

states and :

(A) Multinational Corporations

(B) Non-Governmental Organiza-
tions

(C) International Organizations

(D) Terrorist Organizations

The Warsaw Pact was a direct

response to :

(A) Creation of NATO

(B) Expansion of NATO with the
inclusion of West Germany

(C) Truman Doctrine

(D) Marshall Plan
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45.

47.

YU ASHIR Mle sdl Rlgid d3s

3 Guusll o & ?
(A) 2Uuu-4a
(B) a3z
(C) aPdl ¥ yadd
(D) x[Bidl

‘opriell MARATLST Woe AToL AR
24, Sivll AAAL Hoiril Aeoiul aupy
8 7

(A) sgdly aul Uil

B) Brrius1] Aos-il

(C) id AU AsHl

D) Auatgl AdisHl

il s sil AR ueyu 31
Ay ?

(A) il -

B) uBay ol Aini dda
(©) g Rigid

@) =il Yl



48.

49.

60.

The Soviet Policy of ‘Perestroika’

pursued :

(A} Political openness

(B) Containment of USA

(C) Adoption of capitalist policies

(D) Supporting other communist
countries

Which of the following is not a

regional organization ?

(A) NAFTA

(B) EU

(C) OPEC

(D) APEC

Which of the following is not an

example of Inter-Governmental

Organization (IGO) ?

(A) NATO

(B) UN

(C) Amnesty International

(D) WTO
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48.

49,

50.

Atfade qudl W3isadl’ R
Al Y Adl el ?

(A) UFSY Hs5d a5

(B) y.3u. uR igadl -l

(C) y&laiel Al viu-adl

(D) oflon wyagl 2aid Hee 3l

AL ol s wls Ao«
2f] ?

(A) -us2l (NAFTA)

B) 9.4. (EU)

(C) s (OPEC)

(@ ¥Us (APEC)

(AL Aos-inidl 5y uidiazata‘l

Aotgr Al ?

(A) ~uél (NATO)

(B) y. 3. (UN)

(C) YAl d-231ud (Amnesty
International)

(D) soey.dl.»il. (WTO)
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ROUGH WORK
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